(-3x-2)2 & FARs}A?

® 3x24+2x+2 @ 3x2+12x+2 ® 9x%2 +2x+2

@ 9x2 4+ 10x+4 @9x2+12x+4

(=3x)2 + 2% (-3x) x (-2) + (-2)? = 9x? + 12x + 4
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¥ -2x+1=(x-1)2
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@ x*+2x-3=0{-1}) @x2—9x+20=0{4}

5
@2x2+x—1520{§} @ x*+4x-12=0{6)

@x2 —9x—22 =0{11}

B

@42-9%x4+20=0
25 5

2Xx =+ -15=

® ><4+2 5=0

®121-99-22=0
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4 x=20]10 x+6
T x#z2EEx=6
g x=2FE=x=6

¥ -8x+12=0°A (x-2)(x—6) =0
x-2=0E=x-6=0

Lx=2EEx=6




6. OJAWAHA 2x% +6x-a =02 o3

Fafodat,
>

> He: -6

B

x =33 Foix Aol At
184+18-a=0

c.a=36

2x2 4 6x - 36 =0, (2x + 12)(x=3) =0
2(x+6)(x=3) =0
x=-6EE=x=3
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¥-5x-14=0, (x-7)(x+2)=0,
x=TEsx=-294xF
x=70°x>+3x+k=09 LOo|B2 49+ 21 +k=0,
S k=-=T70
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@y:—§x3—|—1

@y=-x>+x+3




OlAFeHA y = x2 4 20+ 4 1A F(-2) + £(3) O] 7S

®1 @5 ®13 @2 633

f(=2)=(-2)2+2x(-2) +4 =4
f(3)=324+2x3+4=19
L f(=2)+ f(3)=4+19=23
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o] ke Fatolal,

> E:
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(—3x+4)(5x - 6)

={(-3) x5} x% + {(-3x —6) + (4 X 5) } x+4 x (-6)

= —15x% + 38x— 24

=ax?+bx+c

watA g = -15, b=38, c = —24 °|B & g+ b — ¢ = 47 °|t}.
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x—4)(x+2) :xQ—Dx—S
—x+2y)(x—|—Dy) = —x? + 4y?
a+2)(3a-4)=3a2+[ la-38
2x +1)2 :4x2—|—Dx+1

x4y-2(x+y+2)=x+[ hy+y*-4
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A =ab(a+b)—ab=ab(a+b-1) |1,
B = a*b - 2ab = ab(a - 2) °|t}.
OB 9 5= ab & a -2 o[t}

@B A ab = 7t 9] F5< o]k
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9x* + Ax + 16 7} A FA] o] HEE g o, A O] 27

O 24 @ 12 @ =10 @ =12 @124

9x2 + Ax+ 16 = (3x £ 4)% = 9x? + 24x + 16
SLA=124




14. Ax? —4xy - 10y? =(3x + By)(2x + 2y) € W, AB 9] 412 -5t}

(3x + By)(2x + 2y) = 6x2 + 6xy + 2Bxy + 2By?
= Ax? — 4xy — 10y?

LA=6,6+2B=-4, B=-5

.. AB = -30




15. (x+3y)? —4y?*S A5-E3|51H?

D (x-5y)(x-y) @ (x+2y)(x-2y)
® (x-5y)(x+y) @ (x+3y)(x+2y)
@) (x+59)(x +9)

(x+3y)% -4 = (x+ 3y)* - (2)?°|2=
x+3y=A, 2y =Bz olH
A?-B>=(A+B)(A-B)

= (x+ 3y + 2y)(x+ 3y —2y)

= (x+5y)(x +)
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x=-5F=x=3
x2-9=0
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x=3EF+= -3
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® x=3(FD)

@ x=1(FD)
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®, 2,0, ® 4x* - §x+ é)ﬂ

4 1
@ :—4x + 3r - 5yz




20. WA 4(p+q)? -4p+qp+p® = dEelcte] ] el

2
@ (p+aq)° @ (p+ 20’ ® (2p+4q)°
@ (p-q)° ® (p-29)°

B ~
p+q=1t2 X2sIH
4p+q)° -4(p+qp+p° =4 —41p + p?
= (2t- p)®
= (p+29)°
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&5 Q, O, @2 A= HIT Z

(a> +3a—-2)(a® +3a+4)-27
=(t-2)t+4)-21=2+2t-0
=(t+©)(t-©)

= (a® +3a+ ©)(a® + 3a-©)

@ 35,5,7 @ 27,7,5 ® 27,5,7

a’ +3a =12} 5t
(t—2)(e+4)-27

= +2-35

=({+T7)(t-5)

= (a® +3a+T7)(a* +3a-5)

et @ =35 O =7, © =5 °Jth
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AslH 24+a+b=0
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AStH 8+2a+b=0
AYste] EHa=-6,b=4
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@a=2,b=1 ©a=3,b=1

© a=1,b=-1 ® a=2,b=-1
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a-2=0E=b+1=0
a=2%+=b=-1
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